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DEFENCE AND STRATEGIC STUDIES
Paper 11

GIIUT 3TTUT WTHR RIS
gyutrent 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A YEAEehd THY UAE (50) SgUERl ¥R IO IRd. Tt WR d @ (2)
O SR, WE WA e

1. Strategy is about : 1. wmiekAfa o fomel o .
(A) military campaigns (A) A ;
(B) use of military power to achieve
(B) TSIfohd &4F WIEARIUITEIS AShil

(C) use of military power to achieve TR AR

strategic superiority over the (C) TR gt Rl Taesfaugmars)
enemy

political objectives

_ TSRyl QIfeR= ST
(D) use of nuclear weapons in

war (D) Jgmed 3TfUash = M

2. Features of a nation are : 9. Ul AT & omed

(1) Demographic and cultural

o () TIHEEAHS A FEhideh TH
similarities

(ii) Feeling of a community (@) HHTSITET AT

(iir) Desire to be politically (i) TSIfhageeal @ds WA=

separate (A) B () TR
(A) only (i) is correct
(B) &K (i) SIsR

(B) only (iii) is correct

(C) ®e (i) T (i) SN

(C) only (i) and (ii) are correct

(D) all three are correct (D) Td o se TR

[P.T.O.



The concept of equal security :

(1) was spelt out at the 1972 US-
USSR Moscow summit

(@) US and USSR agreed to
respect each other’s legitimate

interests

(zi1) was spelt out at the 1961 non-

aligned summit at Belgrade

(iv) Third world countries wanted to
be treated on the basis of

equality
(A) only (iii) and (iv) are correct
(B) only (i) and (ii) are correct
(C) only (i) and (iii) are correct
(D) all the four are correct

Collective security as a security
strategy is based on the following
approach :

(A) Liberal/Idealist
(B) Realist
(C) Systems

(D) Critical theory
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M geadat dehed T

@) 1972 =1 3R 9 Wifegud WEr=n
Tien! Jeiier ferer aftsed Areet et

(i) ‘o fedmn STeR svafasd=n TRt
Hifegug W aredia T

(i) Sl 1961 =1 AfdAwar f¥mer
TRug A% IeeiEedl JHIOl

(iv) FHAMGSAT YR aNoarEel fag==
STt QR hetell Ao

(A) e (i) 3T (jv) ST

(B) &K (i) 30T (i7) R

(C) &K (i) SO (ii7) ST

(D) &d ¥R R

qrfesh Y& & I Wi gRIhMeR
3131 R

(A) AR/ SERAqAR!
(B) drdae!
(C) gt

(D) fewras fag@




Geographic power potential is

magnified or constrained by :
(A) Political leadership

(B) Natural resources

(C) Trade

(D) Technology

Paramilitary forces come under the

following :

(A) Prime Minister’s Office
(B) Ministry of Defence

(C) Ministry of Home

(D) National Security Council

The origins of detente can be traced

to the lessons of :

(A) Use of atomic weapons in

Hiroshima and Nagasaki
(B) The Cuban missile crisis
(C) Nixon’s visit to China in 1972

(D) Soviet intervention in

Afghanistan in 1979

5.
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giieiler  SIferd=i &THaT dTefaul famen

TIigd a1 gR helt WA
(A) TSIfRT A
(B) “afifer @mem

(C) =M

(D) I

R R [ L= G | g e K L S | e S

(A) TYH HAT HIE
(B) TRETU HATCH
(C) & WA

(D) U HaT HED

qumra fereraT=f geudT 39 SUH
qed

(A) SFTETERT AT fefRmT AR enfvash
IETE IR

(B) o1 &UUTS GHE

(C) 1972 A¢a faaT=t == 92

(D) 1979 = IFTATET ARITIOE

qey ey

[P.T.O.



10.

Who is the Supreme Commander in
the Higher Defence Structure of

India :

(A) President

(B) Prime Minister
(C) Defence Minister

(D) Chairman of Integrated Staff

Committee

The concept of ‘lines of operation’ was
emphasised by :

(A) Jomini

(B) Clausewitz

(C) Douhet

(D) Mahan

For

achieving seaworthiness

six determinants were indicated

by :

(A) Mahan

(B) Howard Michael
(C) Liddell Hart

(D) Jenkins

10.
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RIS 30 T I AEd Hai<d

TRy AfYRR o ?
(A) TegTet
(B) 9a= wsit

(C) TR&Tu w3t

(D) Tg ARy Heooldl 1A

‘STsR{t e IS AT Geheadeal A
R feer ?

(A) It

(B) FeArstferest

(C) =I®

(D) we™

HIsieh ST HIed THI0AIS! el 52eh
I AEA

(A) He™

(B) @€ HEhd

(C) ferda =i

(D) Sifr=|




11.

12.

The concept of human security was

first initiated by :

(A) Canada

(B) The United States of America
(C) China

(D) Australia

A limited war :

(z) has a specific political goal

(z1) attempts to affect the opponents’

will and not crush it

(i11) does not seek unconditional

surrender

(iv) is conducted with tactical

nuclear weapons
(A) only (i) and (iif) are correct
(B) only (i), (i) and (iv) are correct
(C) only (i7), (iiz) and (iv) are correct

(D) only (i), (i1) and (iit) are correct

NOV-16211/11

11. AFd Iada=l Hheadl 999 A=A GR

el
(A) el
(B) e
(C) =M

(D) Atefern

12. 9IiEd Ig ©

(@) Taftre weifea &9 o9d

(1) Ufaeayi=n =1 YYTEid  hiudgr=E
T, T HIO AR

(iif) STEIfaEId IOt I =T
BIN

(jv) STEUETHs 3TfUeeh IS ITHR

HET Dol Sd
(A) &K (i) S (Gi7) S
(B) WK (i), (i) 30 (jv) I
(C) %K (i1), (iii) 3 (jv) S

(D) ®F (), (i7) S (f7) TR

[P.T.O.



13. Willy Brandt’s report ‘North-

14.

South : A Programme for Survival’

considered :

(A) disarmament as a strategy for

development

(B) NPT as a discriminatory treaty

(C) Supported Ronald Reagan’s

‘Strategic Defence Initiative’

(D) Supported Gorbachev’s
‘Perestroika’ as an approach to

development

The rationale for the creation of

SEATO and CENTO was :

(A) establish US hegemony in the

Asia-Pacific region

(B) Provide security to US Naval
bases in the Indian ocean

region

(C) Prevent the spread of

communism in Asia

(D) Break the Sino-Soviet alliance

13.

14.
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o [aV

faeht sieq = ‘Ad-ay’ steard : T

TUH R WEEEa’ O fawlt o8 .

(A) FaEis & faeEET amies

frt e

(B) NPT & 9€9E 0N iR 3T

(C) IMes TM I ‘WS S
stfauda’ @ uidien <o

(D) fashrEr=n gl WU Tiei<es
21 MR Eee A M | B S |
fafo

SEATO  afu CENTO

HLOIEESE HRO

(A) aTfern ufgwies gevma Wi
e gEfue o

o o

(B) fecHem™rmdia mfe=an Arfaes

Teal Y& SUAHIS!

(C) ST HHHH TEUIER el
RIGERIEIE

(D) <=H-I¥Rn Heed devaEe




15.

16.

In the context of Indo-US relations
the Kicklighter proposals represent
the :

(A) finalisation of the Indo-US
Civilian Nuclear Co-operation
agreement

(B) beginning of Indo-US dialogue

on Global Warming

Efforts made by the US to
pressurise India to join the
NPT

(®);

(D) beginning of Indo-US strategic

dialogue
Humanitarian intervention :

() is a military intervention
carried out in pursuit of
humanitarian rather than

strategic objectives

(1) presumes the acceptance of such
universal doctrines as human

rights

(zi1) gets support from the people
as it is fought for a moral

cause
(A)
(B)
(C)
D)

only (i) is correct
only (i) and (ii) are correct
only (i) and (iii) are correct

all three are correct

15.

16.
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RI-3THRT Gaem Heuid fohraamael
T € SRifadl

(A) RA-3100HRT ATUE  ATfoaH

T Y 3ifdH &9 <0

SIRTfdeh TUHT SMee. Rd-3THU R
a%i%il Hquard

NPT A& 9Hie B0 EE! STl
YA <SqUl

A-3TALRT ETH G 9TSO=t
qLard

qHaaER! 85ed =oN

() HEeh LIS HHAed TRl

(a)

qISYTel HITATHST shelall TSR

T

(B)

(®))

(D)

(i) WMl gkl TR SFTAeh] deeli<h

(ii7) fdh FRUMTHEE! ARl TSI

UTES

(A) T (7)) SR 3T
(B) %ad (i) 30T () SUsR 2A®
(C) e (37) 3T (iii) SR 3R

a LN

(D) Td e ISR AR

[P.T.O.



17.

18.

The American concept of ‘Global

war on Terror’ evolved after :

(A) the Iraqi invasion of Kuwait

(B) the 9/11 attack

(C) The failure to capture Osama-

bin-Laden in Afghanistan

(D) The Soviet inervention in

Afghanistan in 1979

Francis Fukuyama’s thesis of “End
of History” sought to celebrate the

triumph of :

(A) Socialism

(B) Neomercantalism

(C) Liberalism

(D) Democratic socialism

17.

18.
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‘TeIdane] foreg, SITfden g5’ & eeh=it

kel A1 A Je STl

-~

(A) HATIIA TUh! TR

(B) 9711 @cem

(C) TSI AT SRR

qhUIMES 3iel 3799

(D) 1979 |E TR =M

Helell e

"Te 3 fewedl’ 31 TR e ATl AT

fagia I =ide 3Te

(A) HHISER

(B) SEaifursTag

(C) 3QRHAAI]

(D) <hIMEl THSER




19.

20.

21.

Which of the following five countries
were recognized nuclear weapon
states at the time of the creation of

the NPT ?

(A) India, Pakistan, US, USSR, UK
(B) US, UK, USSR, China, India
(C) US, UK, USSR, France, India
(D) US, UK, France, USSR, China

Which one of the following is an
essential component of conventional

deterrence ?

(A) Attrition

(B) Blitzkrieg

(C) Mass retaliation
(D) Limited war

The first Camp David Summit of
1959 was held between :

(A) Kennedy and Khrushchev
(B) Eisenhover and Khrushchev
(C) Macmillan and Khrushchev

(D) Kissinger and Khrushchev

19.

20.

21.
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NPT faior g tfvees ¥ 39 =

Wil hivd 919 o9 fed ?

(A) 9Rd, TfehedH, 3THReRT, JTETEIR,
..

(B) MR, g, JTA.TH.3R., =,
qRd

(C) T, .., J.UH.TH.3TR., T4,
Y

(D) TR, ., T, JTETHR,,
EiE]

YRUTReR YA Eeiieldeh] hIodl Teh
Hh 3 ?

(A) e

(B) el gee

(C) wex Yfceean

(D) w45

1959 = Ufgen &9 S=ie fIrer uftue
LI £ =

(A) &St g {%%aq
(B) AR o Ge=d

(C) Heahfqeq 49 {%Qaq

oo

(D) forfasR 9 {%%aq

[P.T.O.



22.

23.

24.

The events as the Brandenburg Gate
led to the :

(A) Success of the solidarity party

in Poland
(B)
©)

Fall of the Berlin wall

German exodus into Austria

through Hungary
(D) Prague spring

Which one of the following is not a

Pakistani Missile system ?
(A) Hatf

(B) Ghauri

(C) Nag

(D) Shaheen

UN peace keeping is guided by there
basic principles :

(z) Consent of Parties
(z1) Impartiality

(zii) Non-use of force except in self-

defence
(A) only (it) is correct
(B)

(®)

only (i) and (i) are correct
only (ii) and (iii) are correct

(D) all three are correct

22.

23.

24.
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et e gEmm=n i 9| Sel

(A) UicieuHia diciede e a9

(B) =efiq afd o U

(C) SHA <l Sz 7ed & =0
AT R

(D) 9 T

TIATHT HIoTd
RIEESIEE I | F .

(A) BH
(B) =
(C) A

(D) IMEA

YT Ll S LU hid S ol

SMER el S

() USRI HAA

(i) hIUTETEl o5 7 =l

(ii) TTEREUMTITETE IV Sl Serr
R R

(A) e (i) IR

(B) e (i) SMOT (i7) SR

(C) e (i) SAMUT (§i7) SRR

(D) el el e

AQUMTE TGl

10
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25. The predominant ethnic group in | 95 i Ueter 9ald e a¥F T
Kosovo is :
(A) wfs=g
(A) Serbian
(B) shrad
(B) Croat
(C) Albanian ©
(D) Macedonian (D) HHrEI
26. Sunderlal Bahuguna is associated | 92g. {iQ{Qr“Qd SN AT Hadd 3Ted
with :
(A) wifedren SAfEenr
(A) Right to information
(B) @@l faliy
(B) Anti-corruption
(C) U+ 9™
(C) Green peace
(D) Chipko movement (D) <9kl Fosdes
27. For permitting the transfer of missile | 27. AFIAYTE YU G SEIALOTETS!
technology the prescribed maximum T S ST TR ' A -
range is :
(A) 500 forst.
(A) 500 km
(B) 600 fort.
(B) 600 km
(C) 1000 km (C) 1000 fort.
(D) 1500 km (D) 1500 feHl.
11 [P.T.O.



28.

29.

30.

Radecliff is associated with :

(A) India-China Border

(B) India-Bangladesh Border

(C) India-Pakistan Border

(D) India-Nepal Border

Changes that took place in Egypt

in 2010-2011 were a product of :

(A) Islamic Revolution

(B) Popular uprising

(C) Ethnic uprising

(D) Military coup

India’s status in the Shanghai

Cooperation Organisation :

(A) Member

(B) Observer

(C) Invitee

(D) Dialogue Partner

28.

29.

30.

NOV-16211/I1
Tefoas a1 weuld R .

(A) 9RA-<H €
(B) WNd-sMTeleel Eral
(C) WRA-uTfeh&d = HrH
(D) ARG-A9TA A

2010-2011 | 3o AE  Freiedn
TSHIST Il It Y

(A) ST Shidl
(B) <enfya 334
(C) dif¥ren 33@

(D) &R HIdt

ITETT hISTITE FeeAd YRAT L1 e

e ?

(A) 99ER
(B) fRew
(C) ST

(D) GUT9O YFTER

12



31.

The strait of Malacca links :

(A) The Arabian Sea to the Gulf of
Oman

(B) The Gulf of Aden to the Red
Sea

(C) The Indian Ocean with the
Pacific Ocean

(D) The Mediterranean Ocean to

the Indian Ocean

31.
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Heolehl FHgEaHl a9 Sied -

(A) & g 9 SAHAE STERR

(B) 3fe-=l ITAFR o dEel 95
(C) fée HeMFR T WId HeER

(D) YAEAEFR O &g "erEmR

32. Chakma refugees originate from : 82. =Wl FHAiI Aot Faw
(A) Bhutan (A)
(B) Nepal (B) s
(C) Sri Lanka (C) #irefht
(D) Bangladesh (D) SRS
33. Match the following : 33. Wl SN« ¢
(@ Tmmanuel Kant (1) Perpetual Peace @ TN FE (1) HEFATEEI S
(b) Johan Galtung  (2) Liberal k) ST TG (2) SRS
Internationalism SR
(©) Woodrow Wilson  (3) Structural violence | (¢) og! oo (3) @raTHs e
(d) VI Lenin (4) Nonalignment @ ®/L.AE. dfm ) AdEe
(5) Right to self- (5) TIAAOTT=ET
determination Iy
Codes : HE
(&) (@)-(1), (6)-(3), (€)-(2), (d)-(5) (A) (@)-1), (B)-(3), (©)-(2), (d)-(5)
(B) (@)-(2), (6)-(3), (c)-(5), (d)-(1) (B) (@)-(2), (6)-(3), (c)-(5), (d)-(1)
(C) (a)-(3), (b)-(1), (c)-(2), (d)-(4) (C) (@)-(3), B)-(1), (c)-(2), (d)-(4)
(D) (a)-(5), (b)-(1), (c)-(2), (d)-(3) D) (@)-(5), (b)-(1), (©)-(2), (d)-(3)
13 [P.T.O.



34. Recent upheaval in West Asia is

35.

36.

driven by :

(A) Military resurgence
(B) Cultural resurgence
(C) Ethnic uprising

(D) Popular uprising

“Free Democracy” was an image

created in the context of :

(A) American imperialism

(B) British Anglo-Saxon democracy
(C) Cold war

(D) Non-alignment

Which amongst the following are
conducive to reducing international

conflict ?

@)

Cease fire

(21) Industrialisation
(211) Disarmament

(v) Balance of power
(A) only (i), (i) and (ii) are correct
(B) only (i7), (ii7) and (iv) are correct
(C) only (i), (zii) and (iv) are correct

(D) all the four are correct

34.

35.

36.

NOV-16211/11
gfy=m AT Tl SAaraey a0

Hos T :

(A)

TSRyl e

(B) Hi&hdiish YA

(C) arsfter g3carm

(D)
B == 1 | 2 Y R ek | e o e
ffor el el

GlEIER IR ERIE

(A) TR SR

(B) e Sirail-Tee clleheng]
(C) fma Ig

(D) A=

AT TEY HH OS] BeAeTden]

HIME ST A ?
@) Fgeal

(i) SRR
GARERE=ICu

(iv) T

(A) &K (), (ii) MU (i) SR
(B) e (if), (iii) S0 (jv) S
(C) &K (i), (iii) M (jv) S
(D) ¥d =R SR

14
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37. What amongst the following are | 37. WIciclush! IV ISRVl GoY TG
examples of conflict management ? IR ?
(A) arbitration (A) oG]
(B) third party mediation (B) faw==n demath wemeed
(C) adjudication (C) sfufur
(D) all of the above (D) = o
38. Which amongst the following of the | g9 Gy wrigar orfir & T SR
United Nations is primarily ) .
responsible for maintaining peace T FIA Fh AR e 2
and security in the world : (A) AEIT
(A) General Assembly .
(B) & Hes
(B) Security Council
(C) Secretary General (©) F&t w==
(D) All of the above (D) =de &
39. Confidence-building approach | 39. favard =iyvh geieom=R ffidt <
emerged in the context of : Hevid el :
(A) Cold-war rivalry (A) Rrggere
(B) Human rights (B) WM BFR
(C) Self-determination (C) @M=l T
(D) Non-alignment (D) AfeTeIdree
15 [P.T.O.



40. Aman ki Asha is a programme

41.

(@)

®)

(c)

()

aimed as :

(A)

(B)

Achieving Global peace

Promoting peace between India

and Pakistan

(C) Promoting peace in
Afghanistan
(D) Promote peace in Jammu and

Kashmir

Match the following :

Wilson (1) Neorealism
Kenneth Waltz (2) Realism
E.H. Carr (3) Liberalism

Hedley Bull

Neo Marxist

(4)

(56) English School

Codes :

(A) (@)-(5), (b)-(4), (c)-(1), (d)-(2)
B) (@)-(3), (b)-(1), (c)-(2), (d)-(5)
(C) (@)-(2), (b)-(3), (c)-(1), (d)-(5)
D) (@)-(4), (b)-(1), (c)-(2), (d)-(3)

40.

41.

(a)

®)

(c)

()

NOV-16211/11

T hi STRM B HIEAHUTET eI |

AR

(A) SINTdieh et Hesfera

(B) YRA-UIfh&d™ ALY IMadd WedTe

(C) STHIMURAETT INadd HiedTe

(D) S-HRHER TLd M GiedTe

Ereitel St Jeodl

IEELSE] (1) SRS

R A (2) SEEEE

g TH. R (3) SARHAAAI

ESIE ] (4) TS
(5) TAE ThHeA

HIS :

(A) (@)-(5), (b)-(4), (c)-(1), (d)~(2)
(B) (@)-(3), (6)-(1), (¢)-(2), (d)-(5)
(C) (@)-(2), (6)-(3), (e)-(1), (d)-(5)

(D) (@)-(4), (6)-(1), (c)-(2), (d)~(3)

16



42.

43.

44.

(a)

®)

(©)

()

The “collective security in Asia”

doctrine was propounded by :
(A) Henry Kissinger

(B) Brezhnev

(C) Richard Nixon

(D) Indira Gandhi

The aircraft carrier that India is
procuring from Russia has been

renamed as :

(A) INS Ashok

(B) INS Chandragupta
(C) INS Bhishma

(D) INS Vikramaditya

Match the following :

HAL (1) Electronic equipment
BEL (2) Aircraft and Helicopters
BEML (3) Heavy Duty vehicles
BDL (4) Guided Missiles Technology
Codes :

(A) (@)-(3), (6)-(2), (e)-(1), (d)-(4)
(B) (@)-(2), (6)-(1), (¢)-(4), (d)-(3)
(C) (@)-(4), 6)-(1), (¢)-(2), (d)-(3)
(D) (@)-(1), (6)-(4), (¢)-(3), (d)-(2)

42.

43.

44.

(@)

®)

(e)

()]

NOV-16211/11
" TR TR gRisaar’’ € e A
Ted :

(A) T forfasr

(B) S

(C) f=E fara

(D) s medt

ARA W gd hd 9 g/ foam arg
EEEICEEIEE I L |

(A) 3ME.TI.TH. 3%

(B) MEUA.TH. =

(C) STETATH. feH

(D) STE.TA.wE. fasaiee

@il el Jeodl

HAL (1) Sl I

BEL (2) fomm smfor gefiepiex
BEML (3) W -

BDL ) TR auoms T
HS :

(A) (@)-(3), (6)-(2), (e)-(1), (d)-(4)
(B) (@)-(2), (6)-(1), (¢)-(4), (d)-(3)
(C) (a)-(4), (6)-(1), (¢)-(2), (d)-(3)
(D) (@)-(1), (6)-(4), (¢)-(3), (d)-(2)

17
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45.

46.

47.

Role of TAEA :

(A) To regulate non-conventional

energy

(B) To regulate nuclear program-

mes

(C) To regulate nano-science tech-

nology

(D) To regulate ecological degra-

dation

India’s space programme is not

aimed at :

(A) Military programme

(B) Educational programme
(C) Communication programme
(D) Cultural programme

TRIMS relates to the following

issue :

(A) Trade

(B) Telecom
(C) Investment

(D) Monetary

45.

46.

47.

NOV-16211/11

IAEA = &H

(A) STURUN 3o fafa oo

(B) emfvass wEswy fafa Sau

(C) AR e Rt S

(D) e =™ frafa g

IRATE] HAdUS FTAHITH] <l 3%3"[

E

(A) TSR HTEHH

(B) demitss wEdwA

(C) 9g= HEHHA

(D) Gi&hdish Y

TRIMS © @reital foasen oed e -
(A) &FMUR

(B) TEHER

(C) T

(D) =cTreTed
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48.

49.

The Defence Budget of India is
prepared by :

(A) Public Accounts Committee
(B) Estimates Committee

(C) Cabinet Committee on Political
Affairs

(D) Ministry of Defence

Read the following statement
regarding development in science
and technology and their application
in war. Which statement is not

correct ?

(A) In 1885, Maxim invented the

fully automatic machine gun

(B) In 1790, the British Royal Navy
used the Flag Signalling System
that was also used in the Battle

of Trafalgar in 1805

HMS Devastation was the first
battleship without sail (1871)

(®))

(D) Internal combustion engine
played a significant role in
increasing mobility in the Boer

War (1899)

48.

49.
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IATET HI&TU FfHhed 7 IR

h{dld
(A) e ol gt
(B) oS |t

(C) TSifra  STEfas=i=l = seiqe

HHET

(D) TR&IU AT

e TR &TifoT doe & e ggrdia
A 1 GeHid @rettel faem ar=r. o
foum < e -
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50. Adam Smith’s views about defence

economics include the following :

(1) Military force was necessary to

protect society

(i1) Professional soldiers were

necessary

(i11) Since defence was for common
good all should bear the

expense

(tv)

Payment was to be made on the
basis of “payment according to

benefit” principle

(A) only (i) and (ii) are correct

(B) only (i) and (ii) are correct

(C) only (i), (i) and (iii) are correct

(D) all the four are correct
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